SIK
MM HIEBEER (RIHSHER)

4-jaw strong scroll chuck plain back,
2-piece jaws (front and back mounted)

1EMaENARENERAEETHNMI -

2.EMEFRFZMT - BT RBFRGETH -

3. R~1iEmIERatEASKEAE ] -

AKREMERKENRE  BRARSREE; BRESR—K
ME 3G A -

R

Back Mounting

(O]
= % — 1
/ .r 2 7"
SIK-7~SlK-12=30° ~=15°_ \ ATgEAL
SIK-16=15" . Front Mounting

E5{I : mm
B g
SIK-7 192 765 155 172 58 5.5 3-M10/3-M10x80 82 28 42 M 11.0 2500 2000 14.1  0.06 08-0180 / ©62-0170
SIK-9 232 84 190 210 70 6 3-M12/3-M12x90 96 32 51.2 12 15.0 3000 2000 222 0.16 ©@11-@220/Q70-0210

SIK-12 310 96 260 285 105 7 3-M12/3-M12x110 1145 40 56.8 14 21.0 4200 1800 45 0.58  @15-@300 / @90-0290
SIK-16 405 122 345 375 160 87 —/6-M14x130 148.6 50 76.1 15 25.0 4500 1500 108 1.72 (@30-0380/@110-B360





